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86 |Tmvy| K24 = EF4H 24 | POS| [ FF | SAF
1 T BBK 52 (uEFE EX 3 DL 14 0 0
2 T VA O 97 (M EXR 4 LB 7 1 0
3 T AKX 42 |AA &7 4 LB 6.5 0 0
4 T PPN 40 |A¥Y EF 3 LB 6 0 1
4 T X 1 O T 3 DL 6 0 0
4 T EBK 59 |ILE %t 1 LB 6 1 0
1 T IIHK 58 [H RIE 4 DL 5.5 0 0
8 T RRX 42 |(wy & 2 DL 5 0 0
9 T BRAK 1 |fEE B 4 LB 4.5 0 0
9 T RBK 42 |/pMUR BRTFE 3 DL/LS 4.5 0 0
1" T AKX 48 [IMNR HRE 4 LB 4 1 0
1 T RRX 46 |EfE tHhé 4 LB 4 0 0
11 T B#HX 50 (& Mt 4 DL 4 0 0
11 T SO 94 |ER B 3 | DL/LS 4 0 0
15 T X 52 |@a e} 4 DL 3.5 0 0
15 T PPN 9 |thaKX Kt 3 DL/P 3.5 0 0
15 T BBK 97 |HkH B— 2 DL 3.5 0 0
18 T EBK 24 |INE BX 4 LB 3 0 0
18 T BiAX 59 |k ETA 4 LB 3 0 0
18 T HERX 95 (A% =2 4 DL 3 0 0
18 T RBK 57 |ZEwk (A 3 LB 3 0 0
18 T BEX 48 |E@ &3} 1 LB 3 1 0
23 T AKX 93 |thrK E=FHR 4 DL 2.5 0 0
23 T HEX 94 (B RZE 4 LB 2.5 1 0
23 T B#HX 7 |fEk B 2 DB 2.5 0 0
26 T L i 66 [Z# BEMN 4 DL 2 0 0
26 T IHK 93 (fE HEKER 4 DL 2 0 0
26 T BEX 3 |FE 4 LB 2 0 0
26 T REK 59 |#%kiE #HE 4 DL 2 0 0
26 T L=k 29 (B FIS 3 DB 2 0 0
26 T IHK 52 |KH X 3 LB 2 0 0
26 T AKX 43 |£@A BE 3 LB 2 0 0
26 T EBA 25 |g@ll BEF 2 DB 2 0 0
26 T SN 39 |¥H MFE 2 DL 2 0 0
26 T RRX 31 |&H K 2 LB 2 1 0
36 T BEX 90 (K KH 4 DL 1.5 0 0
36 T RRX 22 (&F KR 4 DB 1.5 0 0
36 T HEX 42 |dhE faq= 4 LB 1.5 0 0
36 T BAX 96 |/ME HEER 3 DL 1.5 0 0
36 T HEX 19 |8l £EM 3 DB 1.5 0 0
36 T EEX 9 |&kE =E 2 DL 1.5 0 0
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42 T BiEE 23 [k#HF X 4 DB 1 0 0
42 T BiEE 42 |E Kt 4 LB 1 0 0
42 T BiEE 54 [HA H— 4 DL 1 0 0
42 T BiEE 93 [BE Bt 4 DL 1 0 0
42 T EBK 34 [&BH T 4 DB 1 0 0
42 T IIHK 1 |hE R# 4 DB 1 0 0
42 T IHK 10 |&#® A 4 DB 1 0 0
42 T BEX 21 (A 4 | DB/LB 1 0 0
42 T RRK 15 |FiR K— 4 LB 1 0 0
42 T AKX 44 [T XX 4 LB 1 0 0
42 T HERERK 2 |BRE 4 LB 1 0 0
42 T HERX 41 |&)l B 4 LB 1 0 0
42 T BFEHE 36 (&1 BhiK 3 DB 1 0 0
42 T BiEE 68 [R# HE 3 DL 1 0 0
42 T B/ 92 (&3 B 3 DL 1 0 0
42 T BiEE 98 [fEN EAH 3 DL 1 0 0
42 T BRAK 99 (HO & 3 DL 1 0 0
42 T EBK 23 [ED #th 3 DB 1 0 0
42 T EBK 45 |&HH =8 3 DB 1 0 0
42 T BEX 11 |ARE HERK 3 LB 1 0 0
42 T BEEX 22 (WA /IRER 3 DB/K 1 0 0
42 T BEX 75 [/Mb X 3 DL 1 0 0
42 T BREX 91 [XE {BAE 3 DL 1 0 0
42 T PN 34 (@A —F 3 DB 1 0 0
42 T BiAX 6 |B BT 3 LB 1 0 0
42 T AKX 91 |BEk KBF 3 DL 1 0 0
42 T BHAX 21 |HBE £ 2 DB 1 0 0
42 T PPN 23 |FE ®HX 2 DB 1 0 0
42 T AKX 52 (R 2 DL 1 0 0
42 T PPN 91 |EH ZHAH 2 DL 1 0 0
42 T EBK 31 (KB BBk 2 DB/P 1 0 0
42 T EBK 91 (WX E 2 DL 1 0 0
42 T IHK 40 | 2 2 LB 1 0 0
42 T AKX 58 |ftén S 2 DL 1 0 0
42 T HERERK 8 |&EH#H BN 2 DB 1 0 0
42 T BiEE 94 [ILA MHAER 1 DL 1 0 0
42 T BiAX 29 |B1F T#H 1 DB 1 0 0
42 T AKX 47 |FE R 1 LB 1 0 0
80 T HERERK 90 (KK EA 3 DL 0.5 0 0
80 T IIHK 50 |[dh# xRl 2 DL 0.5 0 0
80 T BREX 99 (@K #E— 2 DL 0.5 0 0
80 T BEX 1 |EE 1 DB/LB 0.5 0 0




